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Usingh = —1, k=—4,andr =8weget (z— (—1))’+ (y— (-4))’ =8 <&

(x+1)?+ (y+4)? = 64.

Usingh=—landk=5weget(z— (-1))2+(y—5)?% =7 & (z+1)2+ (y 5)2 =
Next, using the point (—4, —6), we solve for r2. This gives (4 +1)2 + (-6 -5 =712 &
130 = r2. Thus, the equation of the circle is (z + 1)? + (y — 5)? = 130. '

The center is at the midpoint of the line segment, which is ( 12” 3+ 5 ) (3,—1). The radius is

one half the diameter, so r = 11/(=1—7)2+ (3 — (=5))2 = 4\/_. Thus, the equation of the circle
is (z —3)?+ (y + 1)? = 32.

Since the circle with r = 5 lies in the first quadrant and is tangent to both the z-axis and the y-axis,
the center of the circle is at (5, 5). Therefore, the equation of the circle is (z — 5)% + (y — 5)2 = 25.

From the figure, the center of the circle is at (—1,1). The radius is the distance from the center to
the point (2,0). Thus 7 = /(=1 —=2)2+ (1 — 0)? = v/9+ 1 = 1/10, and the equation of the
circle is (z 4+ 1)% + (y — 1) = 10.




